Y'ywn AN

DXNPYVNNND NPPO’9
MNND AOMN MINNYND 4 DN

NV 92NNN DIPY DY 2120 T DY NLYN DIAXPY N YYD DN NLY .1
NOYNN DY D291 NOLY IMNIY DIPYN NN INND .y PN 220 zy NN MNP
RiJathbla)

NP NYOIN It 2D XTI 1 NONvA The Brachistochrone problem .2
M TN MTIPIN SNY NN 13000 W TIND (22, y2) NP (21,41)
7% ,NTRIOPY TIND MTIPIN XNV P2 NYoIN
NTRIVPINN Y DMPYND TPYNIN P2 NYNIND AYNRNN 2D N2)))

(z(¢) = —a(¢ —sing),y(¢) = a(l — cos @), a <0
NPPLNYP INPYN tlfg NN IVN (N)

P(t) = {0 <t <% ¢(0) = 0,9(t1%) = 7} w0019 NN (2)
t%s = [ ds/v PN 12wm

tin /1% = /14 4/72 5 wan )

cyc

(—ma, 2a) NTROPSN SV 0NN (21, Y1) NTIPIN DYON IWND 1% 2D ININ .3
(1, y1) NYNNN NP3 YV NN HIY Wap

17
,AONNNN NTIPIA TINN P IYND fd’fo ,/ﬁcw 9NVINN NN VAP )
A9 MY NI D INIM

JPVOON MYNNN ,INNNNA 2o ) 21 MOPTNP OY my ) my MON XNV .4

NV NP YIND 2D INIM ININION NIN MY (N)

TINN YIN N ONPN YINAY TD VTN ININDDT MINK MOPTNP INSD (2)
OIS NOPTNPO

NYAIPR m NN .DPMEPA DIIND TN 92 7 TINI NON 0N MOM DY .5
YPIPY 12NN INYPY ,TPOIN PIMN PNNND VIIN NV I TAN 93 YNHNI
MMINNA NN INSD (@ TPR) MIND VIND DN € PRI DO WOYN VNN
NN YWY e << 1 00) NN MOVIRA DX DINYN 12 YA NPIIRD



APMOP NP P2 RNV b TN ININND MONN IMPND

0.

- =

0.

- =

a b

NN MY (TN ROD) R OPTI 5ya NTD 29 DY YD VAN m NP Non .
M T NAY DO NIV ION (7,0, ) NPNTI MOPTNPL ININDON
MNNYN TINN 592110 NON NN DAY (DAND MY PTPNRD YIND 2D NIN) ¢

7 7 ND NN LIYINN



